
Installation manual for outdoor unit standing

Please check the package and make sure all the parts are inside. If anything 
missing or damaged, please contact the local distributor. 

φ φ6× 12

φ φ8.9× 31.7

1

Item no. Part name  Quantity  

!

1

2

3

4

5

6

User manual

Vibration damper

Leg

Horizontal bar 

Metal foot

1

4

2

2

4

Note

7

8

9

10

11

Nut

Bolt

Expansion bolt 

Spring washer

Small flat washer

Big flat washer

8

6

8

6

6

8

φ76

M8

M6×20

φ6

M6×60

φ60mm with M8 bolts in two sides

R120400221-V1.2

Adjustable height

571

52635
0

+
 2

7

460

unit:mm

Outlines and dimensions

● OUS 35



2

Installation

Note:

The ground surface should be level. 

 Make sure the ground surface can stand more than 5 times weight of the unit.

 Fasten all the nuts of outdoor unit standing, to avoid any damage to the unit.

●

●

●

      

          

Install four metal feet to two legs, not fixed 

            very tightly.

Put two legs on the ground, and measure the 

height of them. If they have different height, 

adjust the metal feet to make sure all four metal

feet are in the same height, then fasten them to 

the legs by wrench. 

unit:mm

●  OUS 35-50

3
52

+
 2

7

552

695

736

Adjustable height



Put the two legs together. Adjust the width 

until it matches the distance between the 

outdoor unit feet.

Fasten the two parts of the horizontal bar with two

bolts and washers. Tighten them with a wrench.

Install four vibration dampers to the two 

legs, fix them with washers and nuts 

underneath.

Measure the distance between outdoor unit feet in 

front and back side.  Adjust the width of two 

vibration dampers according to the distance. 

Install two horizontal bars to each leg of the 

standing with bolts. Tighten them with a 

wrench.

          

Measure the distance between outdoor unit 

feet.

3



Fasten the vibration damper to the leg with 

M8 nut, with a socket wrench.

4

Mark on the ground where the installation 

holes will be drilled.

Use a power drill with drill bit of diameter 

8mm to drill the ground.

Put expansion bolts in the holes of ground. Put 

the standing on the expansion bolts according to 

the holes in the metal feet, and fix the standing 

with a wrench. 

Put the outdoor unit on the vibration 

dampers of standings. 

Fasten the outdoor unit to vibration dampers 

with M8 nuts and washers. Make sure that you 

have the required distance between the back of

the unit to the wall. 


	页 1
	页 2
	页 3
	页 4

